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I Semesier B.Sc. Degree (C.B.C.S.S. - O.B.E. Regular/Supplemeniary/
lmprovement) Examination, November 2023

(2019 Admission Onwards)
COI!,IPLEI\,IENTARY ELECTIVE COURSE IN STATISTICS

'1C01 STA : Basic Slalislics

lnsttuction: Useol calculatars and slatslical lables are petmikecl

PARI-A
Answer all q Lresl ons Each quesrion carries one naft. (6!l=6)

i Dislinguish belween q!alnaiive and quaniilative dala.

2. Whal do you mean by simple random sanrple ?

3. Whar do you mean by coeiiicienl ot varialion ?

4. Deiine k!rloss and wrile the iormula iorllnding k!iross using momenls.

5. Dei ne pania cofrelalion coeflicienl

6 W!d do . o , nedn o/ r'FqL.rr vaialio.

PARI B

(short answer questions.)

Afswer any 6 questions Each question cades 2 marks (6x2-12)

7. Diiierenllale census and sampiing

8 Bri;fly explain the methods oi colecling a pr mary data.

9. ln a moderalely skewed distribltion mode = I 7i mean = 1 4; iind rhe va ue oi

10 Fn.llhc SD.ln.l ir.l n"mhpG lrnm 1 1. 15
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11. Why AM s considered as the besl average ?

l2 How do you lesl lhe presence oi skewness n a dlslribllion ?

1 3. Whal are lhe melhods ot slldying co tre alior ? Erpla n each

14 DeJ ne nd-ax nrmb-ar

PART C

(Shon essay questions.)

Answerany 4 queslions. Each queslon ca(es 3 marks

1 5. Deiine slatisl cs as melhods. Wrile lhe limnalons of stalist cs.

16. Find lhe valle oi mode lrom the iollowing dala :

X:0-10 10-20 20-30 30 40 40 50 50 60

(4\ 3=12)

1476
r7 A random sample or 100 households weekly tood expendilure represenled

by X nom a parlicllar city gave theiollowlng stalisics:

:! = 11,000 and

:x2 = 1 goo,ooo

Find the mean and standard devialion ior lhese dala

Caculate ihe avemge speed ofacar tunning al the rate ot 20 km ph. durng
lhe iirsl30 knrs.,.ai 28, kltlih. duing lhe smnd 30 ims.'and at 25 km.ph.
durlng lhe thtd_3o:knis . ,

Draw a less lhan ogive iorlhe forlowirtg dala and hence find the median.

Class : A-3 4 7 I 1l 12 15 16 l9
Frequencv 7 4 19 12 8

20 FiFd out 5 year y mov ng average lor lhe lollow ng data :

Year : 1982 1983 1984 1985 1986 1987 1988 1989 19901991 1992

Ptlce: 2A 25 33 33 27 35 40 43 35 32 37

Year : 1993 1994 19951996
P.ice 4A 50 37 45



Answerany2 quesiions. ftch question carries s mafts.

21 . Calculale Karl Pearson's measure ot skewness tor the
is your inierp.etalion about the dala ?
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(2x5=10)

K23t 40aA

? Explain

:5 10 10-15 15,20 20-2s
Fr?quency. 6 a 17 21

25 30

15

nurnber ior the lollowinq

30 -35 35 40

11 2

22 oblain rhe rcsrcssion eqKr2!!2
folowins. -,,I,7 '

x : 40 so 3s \/->
Yi 38 60 55 70

23. Calculale Laspeyre's,

24.

/ lcurcnt ye6r

lF i.


